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(&) ARSI YRR (@) Raetrea aridieH
(1) Shferaiaren aIT RIS (=) =9 Bvs

What did the Hunter commission appointed by the viceroy probe?
(A) Bardole Satyagraha (B) Khilafat Agitation
(C) Jallianwala Bag tragedy (D) Chauri Chaura incident

ey v @ dweren 4 Prefafad 3 | S urer siFaY e e o
?

(®) %= (@) %S (1) (1) s

Which of the following domesticated animals was absent in the
terracottas of the Indus civilisation?

(A) Buffalo (B} Sheep (C) Cow (D) Pig

frafiRm i ddgi e TRE da dH ATE ?
() Suf-ee (@) dg () Brftes (&) s

Which among the following is the sacred book of the Buddhists?
(A) Upanishad (B) Vedas (C) Tripitaka (D) Jataka

B0 Hied § waY fyen R few & A gan o ?
(®) @i (@) wer (1) Tz (ar) argHe

The greatest development in the Kushana period was in the field of
(A) Religion (B) Art (C) Literature  (D)Architecture



3relies 1 fob i Ay = ywifde €vpx dvg ond aroema ?
() faeg et (@yemga  (MuEgw  (9)gery

The monk who influenced Ashoka to embrace Buddhism was___
(A) Vishnu Gupta (B) Upa Gupta
(C) Brahma Gupta (D) Brihadratha

AT I9T DY ey e 9 off ?
(F) o et (@) Reeveld) () el At (w) Ras @

The Lodi dynasty was founded by —
(A) Ibrahim Lodi (B) Sikandar Lodi
(C) Bahiol Lodi (D) Khizr Khan

frfaRea # | PSR- oy e 70 & g o e S 2
(®) e w=9 (F)SRAAE (1) oI (°9) MBRTS

Which one of the following states does not form part of Narmada
River basin?

| (A) Madhya Pradesh (B) Rajasthan
(C) Gujarat (D) Maharashtra

Td<dig ¥l (Hill slopes) W y=1 sraves @ fbw waR Frifa fvar o wadn
g 7?

() TR (&) WaF—5
(1) vediER T (=) e ST
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Soil erosion on hill slopes can be checked by —
(A) Afforestation (B) Terrace cultivation

(C) Strip cropping (D) Contour ploughing

R B SEE WeE sprad) wel Red § ?
(®) I (@) TevEE (Mg fdeell  (®) SeFFR

Where is the National Academy of Agriculture Research
management located?

(A) Dehradun (B) Hyderabad (C) New Delhi (D) itanagar

e # Freiferfaa 4 3 fra yor &) Aol &1 Saeq q4ifte 2 ¥ ?
(%) u= faoren (@) o fastelt. (31) if%es fawiell (u1) 9K faoren

Which kind of power accounts for the largest share of power
generation in India?

(A) Hydro-elctricity (B) Thermal
(C) Nuclear (D) Solar

ARSI URaEreT fe 78 o saRea & ?
(%) 7= (@)Mem@d (1) e () aTeiy

On which river is the Ngarjuna Sagar project lecated?

(A) Krishna (B) Godavari (C) Kaveri (D) Tapti
T I UE E ~
(®) & (=) g (mgewafa (=)W
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The Brightest Planet is?
(A) Venus (B) Mercury  (C) Jupiter (D) Mars

T et siftrfram @ waaran & g 21 o A TerR 18 a8 HR A TE of ?
(®) 42af (@) 444t (71) 52af (1) 610l

Which amendment act reduced the voting age from 21 to 187
(A) 42™ (B) 44" (C) 52 (D) B1°

fooerl wE wE ¥ o oIS oy s A Ra a8y ?
(F) 5w (%) el () feREmE (9) SR REe

‘There are no politics devoid of religion’ is stated by —
(A) Nehru (B) Gandhi
(C) Vinoba Bhave (D) Jay Prakash Narayan

FEETH I @ He& AR Y Fryfee B e ¥ ?
() B |91 BT sreae (@) g w1 o1 [Ty
(31) werTEE (=) gt

Chief justice of the Supreme court is appointed by the -
(A) Speaker of the Lok Sabha

(B) Chairman of the Rajya Sabha

(C) Prime Minister

(D} President



16.

17.

18.

19.

R @ Teufd B s g s fran < |wear & ?
(F) IR & &= =adred (@) Hag
(W) <P () v

The President of India can be removed from his office by the —
(A) Chief Justice of India (B) Parliament
(C) Lok Sabha (D) Prime Minister

foreras! HioE Tl @ Hro vl siw dicl & vEl Sy e e ¥ ?
(%) W (") s (1) WE= (=) @f~rst

Water flows off the wings of birds and insects due to the presence of

(A) Waxes (B) Sugars (C) Protiens (D) Minerals

FrrfefRaa o 9 9F A1 TRF 99 © UoH o Aeitk S E ?

() IR® Thrs () w=Nfew TRis
(1) uswfde Tfis (u) «iffes TR

Which one of the following chemicals is associated with Muscle
fatigue?

(A) Uric acid (B) Acetic acid
(C) Pyruvic acid (D) Lactic acid

Frrmferfaa # < fora wfthan o St Yo A1 2 ?
(@) g (W) HHTIT—HTATOT
(1) arwiEnl (=) srareimo
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In which of the following processes the energy is released?
(A) Respiration (B) Photo synthesis
(C) Ingestion (D) Absorpation

e Il FEfRaa A R reR S ST ?
(F) TRy (@) WiersE (1) arRe (9) ¥

Ringworm is a disease.

(A) Bacterial (B) Protozoan (C) Viral (D) Fungal
gy 7Y TR @ ft v wRem B & ?

(®) 29 B MR A () afess & s §

(1) e (o) SaR A

Pituitary gland is situated in —
(A) The base of the heart (B) The base of the brain
(C) The Neck (D} The abdomen

TS 1 TS TS Bl FTRI R B S A R ey 7
(@) s ¥ (@) g A () A (=) D

The dried flower buds are used as a spice in —
(A) Cardamom (B) Cinnamon (C) Cloves (D) Saffron

e S8l o qHe
(@) & (@) a9 (Mag = (g) faaa
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Sound cannot pass through —
(A) Water (B) Steel (C) Air (D) Vaccum

HIORRT (1) iR e frasd sifaarss g ?
(&) PO (|) fe= (1) 3MsH () dgfafram

Ruby and Sapphire are oxides of —
(A) Copper (B) Tin (C) Iron (D} Aluminium

FrfaRaa 4 9§ sy S veE PR AT Y ?
(%) T (@)wrdla (1) RR (=) wARf

One of the constituents of tear gas is —
(A) Ethane (B) Ethanol (C) Ether (D) Chloropcrin

foriferRad 3 @ T ~frereiie T8 ¥ ?
(%) Wt (@ (@@ (7)) IR

Which of the following is not a nucleon?
(A) Proton (B) Neutron (C) Electron (D) Positron

e ifa @ fmior | foea wrRl @1 v i sen E ?
(®) Awrse (@) (1) TrEw (&) arad

The material used in the manufacturing of the lead Pencil is —
(A) Graphite (B) Lead (C) Carbon (D) Mica
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o= frd o ¥ ?
() uvaa @ (@) ee sl (1) TaRn fe () S B

Lens is made up of —
(A) Pyrex glass (B) Flint glass
(C) Ordinary glass (D) Cobalt gIaSs

I 9% fram wuta weT ¥ ?
(®) wew TsAlaTsS (@) F SrasifraEs
(1) srcaf® ¥iae o (=) siferirom

‘Dry Ice’ is the condensed form of —
(A) Sulphur tri-oxide (B) Carbon dioxide
(C) Highly cooled water (D) Oxygen

e P forg ‘amd 4 Ry’ smdiR wr g W Y —
(@) Pifraa & (@) Rifesia o (1) S s (&) BTR &

‘IC chips’ for computers are ussually made of —
(A) Chromium (B) Silicon (C) Lead (D) Copper

‘e Rrgia’ o1 oe N w8 e Y -

() wafte spfeme (@) fowra s

(1) <l refemres (=) =afRe srfeme

‘Price theory’ is also known as —

(A) Macro Economics (B) Development Economics
(C) Public Economics (D) Micro Economics
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(@) ofe () w4 (MRerTwH  (9)"we-97

During periods of inflation tax rates should —
(A) increase (B) decrease

(C) remain constant (D) fluctuate

TR B9 ¥ ‘o9 HecHd' feayq &g 941a Wi g ?
(%) 10 A (@) 1 9ars (37) 2 3TN (=) 1 =

In our country the 'Van Mahostsav’ day is observed on —
(A) 10" August (B) 1%t July

(C) 2™ October (D) 1% December

‘3N 9 By’ Fefafga i A fea aa 9 et g ?
(@) pedta (@) fhae (1) 2t (=) 29l e

‘Agha Khan Cup’ is related with which of the following sport event?

(A) Football (B) Cricket (C) Hockey (D) Table Tennis
ROM @1 sifiwra g ? .

() Iaa 3Miha Ao () ¥ el 49

(1) AT STl AHNTEH (=) = &t A

ROM stands for —
(A) Real officemanager (B) Read only memory

(C) Read only memorandum (D) Role on memory

10



36, 23:13::54:......7

(&) 40 (&) 41 (M)441 (=) 39
23:13::54:.....7
(A) 40 (B) 41 (C) 44 (D) 39

37, q@vordt (ReidieR) < q@m o A (amffieR) @ ., ?

(@) urr (@) amwE (1) "R (a) fufra
Seismometer : Earthquakes : : Thermometer : ......... ?
(A) Mercury (B) Temperature
(C) Fever (D) Doctor
38. YAWC :UESG::QIOK: ....... ?
(&%) MMKO (@) KOME (1) MINC (') MIKE

YAWC : UESG :: QIOK ; ......7
(A) MMKO (BYKOME  (C)MINC (D) MIKE

39, Ty & B T ¥ | AP, 9 1 I ¥ | Wedw oM &1 YF ¥ | o, Wi
B 9IS & | IR Fren &1 deaq | B Rear & ?

(&) g (@) g8 (Mg (F) ol



Nithya is Sam’s sister, Mogan is Sam’s father, Selvan is Rajan’s son,
Rajan is Mogan’s brother. How is Nithya related to Selvan?

(A) Daughter (B) Sister (C) Cousin (D) Wife

40. TEH ASH B AR, THD U DI MY B oA B S ASD a SHD e B

41.

42.

31T 1 ART 35 ¥ TETHR, I e &) 8 aui & are fha-it 3y & wg?
(®) 15 (&) 28 (31) 35 (&) 36

A boy's age is one fourth of his father's age. The sum of the boy's
age and his father's age is 35. What will be father’s age after 8
years?

(A) 15 (B) 28 (C) 35 (D) 36

st qpe—wmar § GRAPE &1 27354 iR FOUR & 1687 foran e % |
TEAR, 99 gGe—" § GROUP &t @@ foran smen ?

(&) 27384 (@) 27684 (31) 27685 (®1) 27658

In a certain code language, GRAPE is written as 27354 and FOUR is
written as 1687. How is GROUP written in that code?

(A) 27384 (B) 27684 (C)27685 (D) 27658

fopsft qre—wer § DOCTOR &1 FQEVQT foren @iy, <1 9 de el 4
PATIENT fora wepr feren wimgam ?

(%) RVKGPV (@) RCKPGVV (1) RCVKGPV (1) RVCKGVP

If DOCTOR is written as FQEVQT, how PATIENT can be written in
that code?

(A) RVKGPY (B) RCKPGVV (C) RCVKGPVY (D) RVCKGVP

1%
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45.

6 T, =T g: 7w e @R v 10 At =t 49 98 wifdsh oin

TSPY 10 6.1, w7111 §98 W12 98 TR 3% Ygwv 6 5. 7o 98 =i
T B A ¥ 3 frat g wem ?

(%) 3 fr AN, (@) 4t (7)2fFA, (a) o for A,

A man walked 10 Km towards south from his house, then turned
right and walked 6 Km. He again turned right and walked 10 Km,
thereafter, he turned right and walked 6 Km. How far was he from
the starting point?

(A) 3 Km (B) 4 Km C)2Km (D)0 Km

wmmﬁqﬁaﬁsﬁ?mwﬁmnﬂaﬁawwaﬁaﬁaﬂ?
wmmmwmw;m@@mwmmwmw
Sl Ye fw faen 4 ?

(&) sféo (@) gd (1) uf¥=ry (&) SR

One evening, Raja started to walk towards the Sun. After walking a
while, he turned to his right and again to his right. After walking a
while, he again turned right. Which direction is he facing?

(A) South (B) East (C) West (D) North

e 15 T3l BT AT 1 12 ARt B R qou B wER A, @ A B
wierera fpamn v ?

(®) 20 (@) 25 (31} 18 (=) 21

In the cost price of 15 articles is qual to the selling price of 12
articles. Find gain (%) percentage —

(A) 20 (B) 25 (C) 18 (D) 21

13
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5 a=g 1 AT Yed saa FiRa o 31 64% ¥ TagER FraiRa e w
129% WE I X B IR @ 1 Gfoera fber e ?

(&) 37.5% (&) 48% (31) 50.5% (1) 52%

The cost price of an article is 64% of the marked price. The gain
percentage after allowing a discount of 12% on the marked price is

(A) 37.5% (B) 48% (C) 50.5% (D) 52%

U B3R[t B TRATT 40 A, T SHP1 &6 60 WAL T | I S Bryw
N A T Yo 17 W B, A FE B on @ dqrg fhe WAl ¥ ?

(@) 4 (|6 (1) 8 (&) 15

The perimeter of a triangle is 40 Cm and its area is 60 Cm?. If the
largest side measures 17 Cm, then the lenght (in Cm) of the smallest
side of the triangle is —

(A) 4 (B)6 (C)8 (D) 15

50 Gl ©1 3iRId 30 3 ¥ 1 91@ ¥ e = b S S el W 28 el
31 9 g 82 @l 18 for@ € g | AR e Sia fra E ?

(P) 3612 (@) 30 66 (1) 29:28 (a)38:21

The mean of 50 numbers is 30. Later it was discoverd that two
entries were wrongly entered as 28 and 31 in place of 82 and 13.
Find the correct mean.

(A) 36.12 (B) 30.66 (C)29.28 (D) 38.21

2 sin®0 + 3 cos?0®T ~gHTH WA fha g ?

(%) 3 (@) o ()1 (er) —1

The least value of 2 sin®0 + 3 cos?0 is —

14
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(A) 3 (B) 0 (C) 1 (D) -1

2:153R1E & T Tooell =) 4 Wi o € went e o g2 o 9 e
BI g F P

(w) 27% (@) 45° (M2t (w30

The angle formed by the hour-hand and the minute-hand of clock at
215 Pmiis —

(A) 271{ (B) 45° (C) 22%0 (D) 30°

15
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(A) Electrical device

(C) Mechanical device

Computeris a/an.........ccccceeee.
(A) Electrical device

(C) Mechanica! device

(B) Electronic device

(D) Electro/Mechanical device.

(B) Electronic device

(D) Electro/Mechanical device.

(B) Memory
(D) Keyboard

........................ is the brain of computer

VGA®T 3/ & ?
(A) Video Guard Ample
(C) Video Graphics Array

VGA stand for ?
(A) Video Guard Ample
(C) Video Graphics Array

(B) Memory
(D) Keyboard

(B) Visual Gate Adapter
(D) Visual Game Adapter.

(B) Visual Gate Adapter
(D) Visual Game Adapter.



5 4, a2 ts S & o 5 78 o) woa ¥ ?
(A) Paper (B) Cable
(C) Battery (D) Program

Computer cannot function without a?

(A) Paper (B) Cable

(C) Battery (D) Program
55, 3TTS & WHA @1 Faife ST Input devicel ?

(A) Mouse (BYALU

(C) Keyboard (D) Printer

The most common input device used today is?

(A) Mouse (B) ALU

(C) Keyboard (D) Printer
56. . T AdECPUz amE?

(A) Mouse (B) ALU

(C) Keyboard (D) Printer

Which of the following is a part of the Central Processing Unit?
(A) Mouse (B) ALU
(C) Keyboard (D) Printer

14



57, = 9 919 @1 non-volatile memory SITERU 7 ?
(A) RAM (B) LSI
(C) ROM (D) VLSI

Which of the following is an example of non-volatile memory?

(A) RAM (B) LSI
(C) ROM (D) VLSI
5 B T PYER R .veernsd ST Hee ¥ |
(A) Line Printer (B) Ink jet printer
(C) Dot-matric printers (D) Daisy wheel printers

Large computer system typically use........

(A) Line Printer (B) Ink jet printer

(C) Dot-matric printers (D) Daisy wheel printers
5 3. L THEEH e A B E ?

(A) 8 (B) 16

(C) 10 (D) 1024

1 Byte carry........ Bits
(A) 8 (B) 16
(€)10 (D) 1024
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T W B [e YA 9] FRGER ¥ ?
(A) Super Computer (B) Mini Computer
(C) Micro Computer (D) Mainframe Computer

Which of the following computer is least powerful?
(A) Super Computer (B} Mini Computer

(C) Micro Computer (D) Mainframe Computer

% Application Package &1 SuzinT BT ?
(A) run the computer system smoothly
(B) run the compiler in a better way

(C) meet the specific heeds of a user

(D) enable operating systemto control hardware.

An Application package is used to?
(A) run the computer system smoothly
(B) run the compiler in a better way
(C) meet the specific needs of a user

(D) enable operating system to control hardware.
¥ | BH Programming language=di ¥ ?

(A) UNIX (B) C

(C) Fourth (D) Ada

19
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Which of the following is not a programming language
(A) UNIX (B)C
(C) Fourth (D) Ada

Data Processing@® fe1q statements w9g &1 wea & ?
(A) editing (B) compiler
(C) interpreter (D) program

A Series of statement explaining how the data is to be processed is
cailed.

(A) editing (B) compiler
(C) interpreter (D) program

Operating system, usersiR ®#ex @ e @1 wieas B ¥, R 98 o ord
BIAT® ?

(A) Controls input & output (B) Control program execution

(C) Manages use of main memory (D) All of the above

An operating system is system software that works as an interface
between the computer and an user, it does the following works?

(A) Controls input & output (B) Control program execution

(C) Manages use of main memory (D) All of the above

Paint Brush wreafaa ¥ ?
(A) Main Group (B) Application Group
(C) Accessories Group (D) Startup Group

20



Paintbrush belongs to?

(A) Main Group (B) Application Group
(C) Accessories Group (D) Startup Group
Windows & Sreradr &1 & g ?

(A) GUI feature (B) Muiti color

(C) Desktop technology (D) Being inexpensive

WINDOWS is popular because of its?
(A) GUI feature (B) Multi color
(C) Desktop technology (D) Being inexpensive

Windows 10 professional % =1 improved Interface ¥ ?
(A) Easier and simpler interface  (B) Built in Internet explorer

(C) Support of online website (D) All of the above

Windows 10 professional has new improved interface which is?
(A) Easier and simpler interface  (B) Built in Internet explorer

(C) Support of online website (D) All of the above

Program files & disks & s_qid & o srm R aei R S e § 7
(A) Folder (B) Desktop
(C) Icon (D) None of the above
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Small symbols or pictures used to represent programs, files, disks is
called?

(A) Folder (B) Desktop
(C) lcon (D) None of the above

Windows ¥ SR &1 A sifdd @19 a1t 3 Bl wEa ¥ P
(A) Menu Bar (B) Title Bar
(C) Tool Bar (D) Scroll Bar

Display of name of the program running within the windows is called?

(A) Menu Bar (B) Title Bar

(C) Tool Bar (D) Scroll Bar

Hard disk @& Rea w1 Td Brsal ol 2&ied & & fog............. SYIR
BTy ?

(A) Disk space \ (B) Scan Disk

(C) Disk Defragmenter (D) Disk clean up

....... is used to rearrange files and unused space on the Hard disk so
that program run faster.

(A) Disk space (B) Scan Disk
(C) Disk Defragmenter (D) Disk clean up
MS-Word 3 T BHITS.........ccceeeerverecannnn H ST ¥ |
(A) Print (B) Icons

(C) Letter (D) Digit

29



7Z.

7 3.

7 4

In MS-WORD every command is available in .....
(A) Print (B) Icons
(C) Letter (D) Digit

Word &1 Extension wiga & ?

(A) .exe (B) .doc or docx
(C) .txt (D) .html

File extension of a word document is?
(A) .exe (B} .doc or docx
(C) .xt (D) .html

T A9 Bl Select B ¥g F 1 Key 1 war fven s 1

(A) Ctrl (B) Alt
(C) Shift (D) Esc

To select a sentence. Click anywhere on the sentence with the

following key

(A) Ctrl (B) Alt

(C) Shift (D) Esc

Find & Replace ....cveeeeunns. W Click =¥ |

(A) Edit (B) File

(C) View (D) None of the above

273
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To find and replace fext, click on.......

(A) Edit (B) File

(C) View (D) None of the above
Clipboard 3 text ® Document % &9 & ol <qr |
(A) Ctrl + X (B) Ctrl +V

(C)Ctri+ A (D) Ins

To paste text from the clipboard in the document being edited, press
the key(s)

(A)Ctri+ X (B) Ctrl +V

(C)Ctrl+ A (D) Ins

Querer Document Te &G e e Click @ |

(A) Edit (B) View

(C) File (D) None of the above

In order to open an existing document, you can click on.

(A) Edit (B) View
(C) File (D) None of the above
w8 Statement g |

(A) Mail merge can be used to print the form letters

(B) Mail merge can be used fo print the form letters and mailing labels
{C) Mail merge can be used to print envelopes

(D) All of the above

ol
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Mark the most appropriate statement.

(A) Mail merge can be used to print the form letters

(B) Mail merge can be used to print the form letters and mailing labels
(C) Mail merge can be used to print envelopes

(D) All of the above

............ Entry Text or Graphics @1 refer @wan & 71 amg o9 § SuanT o

(A) Auto correct
(B) Auto Text
(C) Auto format

(D) None of the above

An....... entry refers location for text or graphics you want to use again.
(A) Auto correct

(B) Auto Text

(C) Auto format

(D) None of the above

Header & Footer fiFe &99 §..vvuceecvececnnns Click =¥ |
(A).Edit (B) View
(C)Insert (D) Tools

In order to print Header and Footer, you can click on
(A) Edit (B) View
(C) Insert (D) Tools
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Document 9 Text delete & & fotw ?

(A) Select the text to be deleted, select the cut option from the edit
menu

(B) Click the cut button from standard toolbar
(C) Select the text and press Ctrl + X
(D} All of the above

To delete a text from a document?

(A) Select the text to be deleted, select the cut option from the edit
menu

(B) Click the cut button from standard toolbar
(C) Select the text and press Ctrl + X
(D) All of the above

Excel # T&.. emen.! ®ie A,B,C,....A AA AB,.... AZ,¥ 3ifra ¥ |

(A) 256 (B) 200

(C) 10 (D) 65536

In Excel thereare .............. columns numbered as A, B, C....Z, AA,
AB...AZ

(A) 256 (B) 200

(C) 10 (D) 65536
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34

Column & row 1 intersection HeaTar & 7

(A) Work sheet
(C) Cell

(B) Work Book
(D) Range

The intersection of a column and a row is called as a?

(A) Work sheet
(C) Cell

Formula W giar g ?
(A) +sign
(C)BothA&B

A formula can begin with a?

(A) +sign
(C)BothA&B

=$B$3*$cP 3w ¥ ?
(A) Relative Reference
(C) Mixed Reference

=$B$3*$c$3 is called?
(A) Relative Reference
(C) Mixed Reference

(B) Work Book
(D) Range

(B) =sign
(D) None of the above

(B) =sign
(D) None of the above

(B) Absolute Reference
(D) Both A& B

(B) Absolute Reference
(D) Both A& B

21
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TF Celldam g ?
(A) Text (B) Number
(C) Formula (D) All of the above

A Cell can contain?
(A) Text (B) Number
(C) Formula (D) All of the above

Excel e 8 w711 Workbook & Extension % geren & ?
(A) XLW (B) XLC
(C) XLS (D) XLT

When Excel is loaded, it automatically opens a new workbook, with
extension?

(A) XLW (B) XLC

(C) XLS (D) . XLT

STEEAD resUltIT B Q2T INPUted! T B v SUHT BT ¥ |
(A) Auto format (B) Scenarios

(C) Goal Seek (D) Solver

To determine the value of the input to get the desired result,........ is
used.

(A) Auto format (B) Scenarios

(C) Goal Seek (D) Solver

2.3
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35t @ Cell®wr Conditionallysires £ (TR ST B |
(A) SUMIF() (B) SUM()
(C) SUMTHEN() (D) DSUM()

....is used to total; a range of numeric cells based on a condition.
(A) SUMIF() (B) SUM()
(C) SUMTHEN() (D) DSUM()

T Y AN A1 Y ¥ T DY v, HeargaR a1 Rifd SFER wiag
RS < PO SHIRT F E |

(A) Filter (B) Advance filter
(C) Sort (D) All of the above

In order to arrange the information in selected rows or lists
alphabetically, numerically or by date we use....

(A) Filter (B) Advance filter
(C) Sort (D) All of the above

Data %! Database % &% summarize & analysis &< aren Table & ?
(A) Data Table (B) Pivot Table
(C) Query Table (D) None of the above

An interactive table that summarizes and analyses data from a
database is a?

(A) Data Table (B) Pivot Table
(C) Query Table (D) None of the above
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g2,

93.

eqd Bl ACad BEeldl £ ?
(A) INTERANET
(C) NETWORKING

Network of networks is called?

(A) INTERANET
(C) NETWORKING

FTP® i g ?

(A) File Transfer Protocol
(C) Fixed transfer Port

FTP stands for?
(A) File Transfer Protocol
(C) Fixed transfer Port

Internete Feeqel war ¥ ?
(A) File Transfer

(C) Views and News

Important service of Internet are?

(A) File Transfer

(C) Views and News

30

(B) INTERNET
(D) COMMUNICATION

(B) INTERNET
(D) COMMUNICATION

(B) Fixed Transfer Protocol

(D) None of the above

(B) Fixed Transfer Protocol
(D} None of the above

(B) Remote login
(D) All of the above

(B) Remote login
(D) All of the above
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Y¢.

www.google.coms e ?
(A) E-mail Site (B) Charting Site
(C) Search Site (D) Movie Site

www.google.com is a?

(A) E-mail Site (B) Charting Site

(C) Search Site (D) Movie Site

e B A1 ST BN arel Wesra § ?

(A) CPU (B) Magnetic tapes and disks
(C) Video terminal (D) None of these

Protocol used for the working with the Internet.

(A) CPU (B) Magnetic tapes and disks
(C) Video terminal (D) None of these

Source program............ ureT # fora B g ?

(A) English (B) Machine language

(C) High-Level (D) Symbolic

A source program is the program written in ........ language.

(A} English (B) Machine language

(C) High-Level (D) Symbolic
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1! generation computerd SuaRT faFr ry ?
(A) Vacuum tube (B) Registers

(C) Transistor (D) Magnetic cores

The first generation computer system used?

(A) Vacuum tube (B) Registers

(C) Transistor (D) Magnetic cores
Monitor TVERT & TR T&.rcrerrencnencess TRl HR AP |

(A) Receive TV signals (B) Give a clear picture
(C) Give a steady picture (D) Display graphics

A monitor looks like.a TV set but it does Not.....

(A) Receive TV signals (B) Give a clear picture
(C) Give a steady picture (D) Display graphics
FRIET W B E P

(A) A Central Processing Unit (B) Input and output unit
(C) A memory (D) All of the above

Computer consists of?
(A) A Central Processing Unit (B) Input and output unit
(C) A memory (D) All of the above
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.................... N bytewgarar ¥ ?
(A) Data (B) Bit
(C) Nibble (D) None of the above

.............. is known as half byte.
(A) Data (B) Bit
(C) Nibble (D) None of the above

............ Data processinge Producty |
(A) Data (B) Software

(C) Information (D) A computer

...... is the product of Data Processing.
(A) Data (B) Software
(C) Information (D) A computer

g9 Non-impact firee & ?
(A) Daisy wheel printer (B) Drum printer
(C) Laser printer (D) All of the above

Which of the following is a non-impact printer?

(A) Daisy wheel printer (B) Drum printer
(C) Laser printer (D) All of the above
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104

105,

T4 9§ B 91 Sequential storage device#i ¥ ?
(A) Magnetic disk (B) Magnetic Tape
(C) Paper tape (D) All of the above

Which of the following is not a sequential storage device?
(A) Magnetic disk (B) Magnetic Tape
(C) Paper tape (D) All of the above

111010 @1 Octalvie & ?
(A) 81 (B) 72
(CY71 (D) None of the above

The octal equivalent of 111010 is?
(A) 81 (B) 72
(C) 71 (D) None of the above

Bubble memory®g v ?

(A) Sequential access device only

(B) Direct access device only

(C) Combination of sequential and direct access device
(D) All of the above

3
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10Y7.

Bubble memory is a?

(A) Sequential access device only

(B) Direct access device only

(C) Combination of sequential and direct access device
(D) All of the above

................... B BISHR Data Entrywfl & 251 & |
(A) OCR (B) OMR
(C) COM (D) Voice-recognition systems

Data entry can be performed with all of the following except......

(A) OCR (B) OMR

(C) COM (D) Voice-recognition systems
H AT 4 frar Wrn seemary ?

(A) Assembler (B) Object program

(C) Computer (D) Machine

A program written in machine language is called?
(A) Assembler (B) Object program
(C) Computer (D) Machine

BE .
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ioga

1to

PPS @i gi&u § ?
(A) Power Point show

(C) Power point save

PPS stands for?
(A) Power Point show

(C) Power point save

(B) Power Point slide

(D) None of the above

(B) Power Point slide
(D) None of the above

g 9§ 3 Keyboard® e wanferg e & ?

(A) Card punch
(C) Magnetic disk

(B) Punched paper tape
(D) Magnetic tape

Which of the following is directly controlled from a keyboard?

(A) Card punch
(C) Magnetic disk

g T E ?
(A) Programming Language
(C)OS

What is Python?
(A) Programming Language
(C)OS

(B) Punched paper tape
(D) Magnetic tape

(B) Compiler
(D) Protocol

(B) Compiler
(D) Protocol
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L1 L2 TR T fegem ¥ |
(A} C sharp
(C) C++

JVM is part of.......
(A) C sharp
(C) C++

Computer memory# g ¥ ?
(A) RAM
(C) PROM

Computer memory consists of?
(A) RAM
(C) PROM

Control Unitwgeire & ?
(A) Nerve centre

(C) Master dispatcher

Control unit is called?
(A) Nerve centre

(C) Master dispatcher

(B) Oracle
(D) JAVA

(B) Oracle
(D) JAVA

(B} ROM
(D) All-of the above

(B) ROM
(D) All of the above

(B) Clock
(D) All of the above

(B) Clock
(D) All of the above
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Low level computer language® Sua g & ?
(A) English word (B) Limited grammar

(C) Mnemonic codes (D) Mathematical symbol

Low level computer language used?

(A) English word (B) Limited grammar
(C) Mnemonic codes (D) Mathematical symbol
Compilerat aref ¥ |

(A) A person who compile source program
(B) The same thing as a programmer
(C) Keypunch operator

(D) A program which translate source program into object program.

A Compiler means

(A) A person who compile source program
(B} The same thing as a programmer

(C) Keypunch operator

(D) A program which translate source program into object program.

TUser N1 Selectd g @& g ?
(A) Menu (B) Block
(C) File (D) Data items
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Which of the following is a displayed listing of program option that
user can select?

(A) Menu (B) Block

(C) File (D) Data items

Hretsifhem fhee wafea & ?

(A) Structured programming (B) Object Oriented programming
(CYNLP (D) Machine Learning

Polymorphism is related to?
(A} Structured programming (B) Object Oriented programming
(C)NLP (D) Machine Learning

& BIM Storage function & fére frder y ?
(A) Input (B) Output
(C) CPU (D) Memory

Which function of a computer is responsible for permanent storage of
data?

(A) Input (B) Output

(C)CPU (D) Memory

ST AT ESA | ?

(A) Part of JAVA (B) Part of RDBMS
(C) Huge collection of data (D) None of the above
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Data warehouse is a7?

(A) Part of JAVA (B) Part of RDBMS

(C) Huge collection of data (D) None of the above
e Ve frad g1 ye i Bk & |

(A) Set theory (B) Numerical Technique
(C) Artificial Intelligence (D) Boolean Algebra

Which one is used to express logic gate

(A) Set theory (B) Numerical Technique
(C) Artificial Intelligence (D) Boolean Algebra
Webcam T@....ccce. T T E |

(A) Memory (B) Output

(C) Input (D) Processing

Webcam is an.........c........ Device.

(A) Memory (B) Output

(C) Input (D) Processing



1292. List of Instruction computersl executes are Computera ..................

PBEAT € |
(A) Hardware (B) Software
(C) Language (D) Process

The list of instruction to be executed by a computer is known as..

(A) Hardware (B) Software
(C) Language (D) Process
12 3. REAGAN < 31 BT =iy |
(A) Sign bit (B) Storage location
(C) Data type (D) All of the above

A variable must have....... .

(A) Sign bit (B) Storage location
(C) Data type (D) All of the above
10 4. Computerd Data i =) SymbolsgRT yga ST ¥ I ... |
(A)Oand1 (B) On and Off
(C) True and False (D) Bits and Byte

All data to be stored and processed in computers are transformed or
represented as sequence of two symbols. These symbols are...

(A)Oand 1 (B) On and Off
(C) True and False (D) Bits and Byte

7y
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Main memory@ear g ?
(A) Cells (B) RAM
(C) Hard Disk (D) Floppy Disk

Main memory is called?
(A) Cells (B) RAM
(C) Hard Disk (D) Floppy Disk

e & 1 v 0 g1 Piftfa frder weemn ¥ 2
(A) Programming language (B) Machine code
(C) Instructions (D) Data

Computers works only on 1s and Os pattern, instructions made up
with it is called?

(A) Programming language (B) Machine code
(C) Instructions (D) Data

System Software @1 SaTER0I & ?
(A) Linux (B) Windows
(C) Both Aand B (D) Power Point

The example of system software is?

(A) Linux (B) Windows
(C)Both Aand B (D) Power Point

1o
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Hietst fevrad v erer Argii fren) wrafeg ¥ ?
(A) Database (B) Oracle

(C) Internet (D) Data warehouse

Knowledge discovery and data mining are associated with?

(A) Database (B) Oracle

(C) Internet (D) Data warehouse
Teifess fras) wrafeg ¥ ?

(A) ERP (B) Data base

(C) Data warehouse (D) Big data

Analytics is related with?

(A) ERP (B) Data base
(C) Data warehouse (D) Big data
T9Y T4 Hudsd ) vt & ?

(A) DB/2 (B) RDBMS
(C) JAVA (D) Big data

Hadoop and mapreduce are related with?
(A) DB/2 (B) RDBMS
(C) JAVA (D) Big data
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13%3.

............. Program@ pictorialuwse ¥ |

(A) Icon
(C) Flowchart

(B) Folder
(D) Command

......... is a pictorial representation of a program.

(A) Icon
(C) Flowchart

EG I s B 3 | 1 AT, FRATE ?

(A) Association

(C) Specification

Inheritance reflects........
(A) Association

(C) Specification
(A) Programs

(C) Database tool
EDlisakind of .......

(A) Programs
(C) Database tool

&4

(B) Folder
(D) Command

(B) Difference

(D) Generalization

(B) Difference

(D) Generalization

(B) Method
(D) Network

(B) Method
(D) Network



{34 . reader.readline(),......... @1 39qe Ricga & ?
(A)C (B) G+
(C) Python (D) JAVA

reader.readline(); is input syntax for.........

(A)C (B) C++

(C) Python (D) JAVA
135, Myint().............. P1 FRepara+ Ricaa & ?

(A) C sharp (B) VB dot net

(C) R programming (D) Python

Myint() is a syntax used for variable declaration in.....

(A) C sharp (B) VB dot net
(C) R programming (D) Python
1% &, try{ }.. catch{ Y1 < % == Sua ¥ ?
(A) CLASS collaboration (B) Subclasses inheritance
(C) Exception handling (D) Debugging

try{ }.. catch{ } in JAVA use for?
(A) CLASS collaboration (B) Subclasses inheritance
(C) Exception handling (D) Debugging

R
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Ethernefes @ ¥ |
(A) HDD (B) CDs
(Cyuss (D) NIC

Ethernet is a standard for
(A) HDD (B) CDs
(CYUSB (D) NIC

ceverereeeneses XPT BUERT File®! TF TP | TH YT H Transfer o &
farg o ¥ |

(A) FTP (B) Telnet
(C) Chat (D) DNS

....... is used to transfer files from one computer to another computer.
(A) FTP (B) Telnet
(C) Chat (D) DNS

................ %1 SIART mail send & receive® & T SUGT FHE ¢ |
(A) E-mail (B) Internet Explorer
(C) Gopher (D) Telnet

.................... is used to send and receive mail.

(A) E-mail (B) Internet Explorer
(C) Gopher (D) Telnet
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(A) Human Text Makeup Language

(

B) Hyper Text Markup Language
(C) Human Text Manipulation Language
)

(D) Handy Text Markup Language

HTML stands for?
(A) Human Text Makeup Language
(B) Hyper Text Markup Language
(C) Human Text Manipulation Language
(D) Handy Text Markup Language
141, S99/ A ... gl |
(A) Web Browser (B) System Software
(C) Application Software (D) Protocol
TCP/IPisa...............
(A) Web Browser (B) System Software
(C) Application Software (D) Protocol
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1 A4S

URL v BT 3R T ?
(A) Uniform Resource Locator

(C) Uniform Reused Language

URL stands for.......7
(A) Uniform Resource Locator

(C) Uniform Reused Language

% 1 T e S ¥ ?
(A) Numerical logic

(C) Arithmetic logic

Algebra of logic is termed as?
(A) Numerical logic

(C) Arithmetic logic

(B} United Residence Language
(D) Upper Regional Language

(B) United Residence Language
(D) Upper Regional Language

(B) Boolean algebra

(D) Boolean number

(B) Boolean algebra

(D) Boolean number

e oo BT SURIT R O B R oo ?
(A) For designing of the digital computers

(B) In building logic symbols
(C) Circuit theory

(D) Building algebraic functions

48



Boolean algebra can be used......................
(A) For designing of the digital computers
(B) In building logic symbols

(C) Circuit theory

(D) Building algebraic functions

1 A48 7 T T4 T gferao sifiveafin g aeiar T
(A) Positive (B) Recursive
(C) Negative | (D) Boolean
A value is represented by a Boolean expression,
(A) Positive (B) Recursive
(C) Negative (D) Boolean

146. gfer T o Rfte vy @ § ?
(A) OR and XOR (B) NOR and XNOR
(C) MAX and MIN (D) SOM and POM

What are the canonical forms of Boolean Expressions?

(A)OR and XOR (B) NOR and XNOR
(C) MAX and MIN (D) SOM and POM

by



24T ... % A S A9 3AGE @ foiy Sea siseye uaH PRl ¥ |
(A) NOT (B) X-NOR
(C) AND (D) XOR

The logic gate that provides high output for same inputs

(A) NOT (B) X-NOR

(C) AND (D) XOR
148 s @ & sfeafi... SRS TE ¥ |

(A)A+ AB=A (BYA+ AB =B

(C)AB + AA = A (D)A+B=B+A

The expression for Absorption law is given by.......
(A) A+ AB=A (BYA+AB =B
(C)AB + AA'=A (D)A+B=B+A

149. gfere o 1 AR : A+1= 2
(A) 1 (B) A
()0 (D) A

According to Boolean law: A+1 =7
(A) 1 (B) A
(C)0 (D) A’

2]
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A (A+B)=?
(A) AB
(C) (1+AB)

A (A+B)= ?
(A) AB
(C) (1+AB)
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(B) 1
(D) A
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